RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Amending Enrollment Resolution No. 19-134 to Correct the Name of One Enrolled Member)

RESOLUTION NO. 23-286

1	WHEREAS,	the Tohono O'odham Legislative Council is vested with the power to enact laws
2		and ordinances governing the enrollment and adoption of members (Article II,
3		Sections 1 and 2 and Article VI, Section 1(h) of the Constitution of the Tohono
4	1	O'odham Nation); and
5	WHEREAS,	Articles VI and VII of the Nation's Enrollment Ordinance provide that the
6		Enrollment Committee is responsible for reviewing enrollment applications and
7		making recommendations to the Legislative Council regarding the eligibility of
8		applicants (Ordinance No. 05-81, as amended; 14 T.O.C. Chapter 1); and
9	WHEREAS,	Article VIII of the Nation's Enrollment Ordinance, the Tohono O'odham
10		Legislative Council shall determine eligibility for membership or adoption; and
11	WHEREAS,	by Resolution No. 19-134, the Tohono O'odham Legislative Council approved the
12		Monthly Age 18 Report for May 2019 of eligible minor members who reached the
13		age of 18 and are no longer restricted from receiving their per capita payments;
14		and
15	WHEREAS,	the Enrollment Program has determined that a number of resolutions approving
16		membership and adoption applications misspelled or incorrectly listed the
17		names of members; and
18	WHEREAS,	the Enrollment Committee recommends that Resolution No. 19-134 be amended
19		to reflect the correct name for the member identified in the Monthly Age 18
20		Report Amendment Summary August 2023, which is incorporated by this
21		reference; and
22	WHEREAS,	the Rules Committee has reviewed the Enrollment Committee's
23		recommendations and recommends approval.
24	NOW, THERE	FORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that Resolution
25		No. 19-134 is amended upon the effective date of the resolution to reflect the
26		correct name for the member identified in the Monthly Age 18 Report
27		Amendment Summary August 2023.
28	BE IT FINAL	LY RESOLVED that the Tohono O'odham Legislative Council authorizes Principal
29		Trust Company to commence payment to the non-restricted beneficiary listed on
30		the Monthly Age 18 Report Amendment Summary August 2023, subject to the
31		additional requirements of the Trust Agreement and written confirmation of the
32		beneficiary's current mailing address and other information.
	•	

1 2 3 4 5 6 7 8 9 10 11	R (AP)
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31	A (E S C p p ee h
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 8 19 20 12 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 42 43 44 45 64 78 49 50 51 52	

ESOLUTION NO. 23-286 Amending Enrollment Resolution No. 19-134 to Correct the Name of One Enrolled Member) age 2 of 3

1 2 3 4 5 7	day of AUGUST 2023 at a meeting at which a -0-AGAINST; -0-NOT VOTING; and [02] ABSEN Article VI, Section 1(d)(2) of the Constitution Tohono O'odham Nation on January 18, 19	Tohono O'odham Legislative Council on the <u>07TH</u> a quorum was present with a vote of 3,218.0 FOR; T, pursuant to the powers vested in the Council by, n of the Tohono O'odham Nation, adopted by the 86; and approved by the Acting Deputy Assistant rch 6, 1986, pursuant to Section 16 of the Act of June
9	TO	OHONO O'ODHAM LEGISLATIVE COUNCIL
ó		
1		Must Street
2	Al	berta J. Ray, Legislative Vice Chairwoman
4		9 day of August, 2023
4 5 6		
6 7		•
8		
9	1 1 1/1/2 hill.	
0		
1 2		
3 4		
5	Said Pacalution was submitted for approx	val to the office of the Chairman of the Tohono
6	O' odham Nation on the \mathcal{I} day of \mathcal{I}	description 2023 at 2 v o'clock, A m.,
7	bursuant to the provisions of Section 5 of	f Article VII of the Constitution and will become
8 9		ilure to either approve or disapprove it within 48
0		
1	_	OHONO O'ODHAM LEGISLATIVE COUNCIL
2	}	
3 4	į į	Seller (ay)
5		berta J. Ray, Legislative Vice Chairwoman
6	5	
7		
8 9) .	Λ
0) [X] APPROVED on the	(U) day of (L) , 2023
1 2 3 4 5 16	DISAPPROVED at 1	∑o'clock, _&m.
3	3	\wedge \wedge \wedge
4 5		/ll / W/
6	NED NOT	RRIS, JR., CHAIRMAN
17	7 I TOHONO	O'ODHAM NATION

turned to the Legisla	tive Secretary on the $\underline{/0}$ day of	
Clumbelon	tive Secretary on the <u>//</u> day of , 2023, at <u>//2/3</u> 4 o'clock,m.	
onne Wilson, Legisla	tive Secretary	

RESOLUTION NO. 23-286

ACTION: AMENDING ENROLLMENT RESOLUTION NO. 19-134 TO CORRECT THE NAME OF ONE ENROLLED

MEMBER

MOVED: COUNCILWOMAN MARY LOPEZ SECOND: COUNCILWOMAN TERESA F. DONAHUE

DATE: AUGUST 07, 2023

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSE
SIF OIDAK	1. MARY LOPEZ	122.8	х			
245.6	(Ann M. Garcia) 2. LUCINDA ALLEN (Francis Homewytewa)	122.8	X			
SELLS	1. SHEILA ESPINO	278.25	X			
556.5	() 2. EVELYN JUAN MANUEL (Arvada Liston)	278.25	X			
SCHUK TOAK	1. TERESA F. DONAHUE	95.25	x			
190.5	(Alberta Espinoza) 2. DELISA M. RAMON (Sharon A. Francisco)	95.25	X			
SAN XAVIER	1. DANIEL L.A. PRESTON III	121.3	X			
242.6	() 2. JANICE FELIX ()	121.3	X			
SAN LUCY	1. LORRAINE M. EILER	121.9	X			
243.8	() 2. ROGER MANUEL (Christina Andrews)	121.9	X			
PISINEMO	1. MARIETTA MARTIN	116.35	X			
232.7	() 2. EDWARD D. MANUEL (Monica Morgan)	116.35	X			X
HICKIWAN	1. LOUIS R. LOPEZ	108.3	X			
216.6	2. DELMA M. GARCIA	108.3	X			
GU VO	1. GRACE MANUEL	135.35	X			x
270.7	2. DALLAS LEWIS ()	135.35	X			
GUACHI	1. TIMOTHY L. JOAQUIN	139.25	x			
278.	() 2. VICTORIA HOBBS (Tonya L. Joaquin)	139.25	X			
CHUKUT KUK	1. MARLAKAY HENRY	175.8	х			
351.6	(Billman Lopez) 2. VIVIAN JUAN-SAUNDERS (Cornelius Antone)	175.8	X			
BABOQUIVARI		194.45	x			
388.9	(Frances G. Antone) 2. LEANDER MASE (Francine Schooling)	194.45	X			_
	TOTA	L 3,218.0	3,218.0	-0-	-0-	[0